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Answers

1. 173,956

2. 196,019

3. 276,540

4. 33,417

5. 162,648

6. 707,056

7. 507,744

8. 321,650

9. 207,993

10. 373,826

Solve each problem.

1) Robin was building a LEGO tower. She built it with 277 stories and with 628 blocks on
each story. How many LEGO blocks would she have used?

2) A pallet of toggle bolts weighs 929 kilograms. If a warehouse has 211 pallets, what is their
total weight?

3) A candy store had 330 empty shelves. If each shelf can hold 838 pieces of candy, how
many pieces would they need total to fill up all the shelves?

4) If an industrial machine could make 237 pencils in a second, how many pencils would it
have made in 141 seconds?

5) A coat manufacturer puts 753 coats in a shipment. If they sent out 216 shipments, how
many coats would they have sent out?

6) Paul was collecting cans for recycling. In 5 months he had collected 944 bags with 749
cans inside each bag. How many cans did he have total?

7) A school district ordered 656 new science text books. If each text book had 774 pages in it,
how many pages are there total in all the text books?

8) A fundraising company went to 350 different schools delivering 919 boxes of candy to
each school. How many boxes did they deliver total?

9) A pizza chain uses 267 grams of cheese on their pizzas. If they sold 779 pizzas, how many
grams would they have used?

10) Each day 457 new apps are uploaded to a web server. After 818 days, how many apps
would have been uploaded?
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Solve each problem.

207,993 33,417 321,650 196,019 173,956

276,540 707,056 507,744 162,648 373,826

1) Robin was building a LEGO tower. She built it with 277 stories and with 628 blocks on
each story. How many LEGO blocks would she have used?

2) A pallet of toggle bolts weighs 929 kilograms. If a warehouse has 211 pallets, what is their
total weight?

3) A candy store had 330 empty shelves. If each shelf can hold 838 pieces of candy, how
many pieces would they need total to fill up all the shelves?

4) If an industrial machine could make 237 pencils in a second, how many pencils would it
have made in 141 seconds?

5) A coat manufacturer puts 753 coats in a shipment. If they sent out 216 shipments, how
many coats would they have sent out?

6) Paul was collecting cans for recycling. In 5 months he had collected 944 bags with 749
cans inside each bag. How many cans did he have total?

7) A school district ordered 656 new science text books. If each text book had 774 pages in it,
how many pages are there total in all the text books?

8) A fundraising company went to 350 different schools delivering 919 boxes of candy to
each school. How many boxes did they deliver total?

9) A pizza chain uses 267 grams of cheese on their pizzas. If they sold 779 pizzas, how many
grams would they have used?

10) Each day 457 new apps are uploaded to a web server. After 818 days, how many apps
would have been uploaded?

Answers

1. 173,956

2. 196,019

3. 276,540

4. 33,417

5. 162,648

6. 707,056

7. 507,744

8. 321,650

9. 207,993

10. 373,826

1-10 90 80 70 60 50 40 30 20 10 0


	Worksheet
	Answer Key
	Modified Worksheet

